














Quanity Material Description Unit Cost Cost
4 2"x8"x10' PT pine 4- 10' vertical supports
2 2"x8"x8' PT pine 2-67" stiffeners 4 -1 O" dead men 
1 2"x8"x8' PT pine 1 -57'' crosstie
1 2"x8"x10' PT pine 2 -57'' crossties 
2 2"x4"x10' PT pine 1 -57'' crosstie, 4 -36" rafters
1 5/4"x6"x12' PT pine 1-4"x6', 1-5"x6' ridge caps 
4 5/4"x6"x6' PT pine 8 -5/4"x3"x6' sheathing 
1 8"x10' Al brown drip edge 6' drip edge
1 box #1 grade Western Red Cedar shingles 
1 4' x 4' CDX Plywood 4' x 4' plywood for panel

1 8" x 6'  copper flashing (for wet installations)

8" x 6' copper flashing under roof cap. 
Reduces buildup of moss and rot in wet 
locations

12 3/8"x5" galvanized carriage bolts 
20 3/8"x4" galvanized lag screw 
32 3/8" galvanized flat washers 
12 3/8" galvanized hex nut 

15 1 1/2"-12 46 
stainless steel flathead screws for attaching 
rafters to sheathing

46 8d (2 1/2") galvanized nails
20 16d (3 1/2") galvanized nails

1 lb box 4d (1 1/2") Stainless steel ring shank siding nails
Total

Kiosk Materials List


	Cover_93015.pdf
	Page2_93015.pdf
	Page3_93015.pdf
	Page4_93015.pdf
	Page5_93015.pdf
	Page6_93015.pdf
	Page7_93015.pdf
	Page8_93015.pdf
	Page9_93015.pdf
	materials_list_kiosks.pdf
	Sheet2




